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Note: i) Attemptany five questions.
fer=gf ara wesi &Y gt Fifor
1) All questions carry equal marks.
wft wet & v 37w #)
iii)In case of any doubt or dispute the English version
question should be treated as final.
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l.a) Define and explain sampling theorem for low pass signal.
Also explain cross talk and aliasing effect,
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b) Explain the generation and detection of PWM signal.
PWM Rt &1 St ol 1gam a1 &t deits =t
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2. a) What is quantization and derive the expression of
quantization noise?
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b) Whatis differential coding? What are its advantages and
disadvantages?
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. a) How to generate and detect ADM signal?
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b) What is inter symbol interference? How can it be
minimized?
Fox Rt erfthav=a 7 g 27 ok o9 o o 3
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With the help of block diagram explain the generation and
detection of QPSK signal. https://www.rgpvonline.com
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. With the help of block diagram explain the generation and

detection of coherent and non coherent BFSK signal.
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a) Explain the working of matched filter and correlator
detector.

Az fhoey 3R TR feddeR & B wonel! TSyl
b) Determine the error probability of QPSK signal.
QPSK Rt 1 & mafaferdt ferel!

'7. a) Derive the expression of channel capacity in terms of

mutual information. Also calculate the channel capacity
for noise free channel.
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(3]
b) Fora BSC shown in fig. | find the channel capacity for
R 18 gafl 1t BSC &) d1ct AR 37 QY R 5 g
W
i) P=09
i) P=0.56

(1)

Fig. 1/f4= 1

8. Write short notes on any two of the following:
a) Gram Schmidt Orthogonalisation
b) Error probability of QAM
¢) Cyclic codes
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